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(iv) Endosperm - T q9

() Antipodal cell - TUETITSE BT
(vi) Embryosae - §°1 P9

(vii) Zygote THH

(viiii) Root - &

(ix) Fertilized egg - FRfEA 373

(x) Male gamete - T %

Answer any twe ofthe following :

Freffes 3 & Rl @ @ gex AT -

(i) What are blood groups ? Discuss their
inhentance

Eﬁfﬁﬂ?ﬂ%?gﬂ%a“iﬂiﬂmqﬁﬁaﬁm
- pIfeTT |

(1) Describe the structure of chromosome
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(11} Deseribe Watson ainyd Crick model ol DN A

Sructure.

3.0 6T D qega od R MY )
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6. If the basic chromosotne number 1s 7 in a class of
individuals  What will be the number of

chromosonie in the following ?
(1)  Nullisomi¢

(1) Monosomic

(ii1) Trisomic

(iv) Tetrasomic

3R 9w § oRgEh A R G ¥ | et
§ orgAl R ge 7 a ?
(i) TaEES

(ii) A

(iiii) TR

(iv) aﬂﬁ’fﬂl‘cﬁ
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Short Answer Questions

(Y T )

cOntains three questions.
Each question carries 10 marks.
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. How would you Prove that DNA is a genetic

Material ? Explain with suitable example.
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g. The X chromosome of Izle is ransminted mto make

through Female Fxplan

mmwvﬁmmm*lm
T |

M. Explain Muluple Factor b pothesis.

TEFTE TFATT F GER
Section—(
(wwz-)

(Very Short Answer Questions)
(s 7Y Sl 5e)
Note : This questiun contains five parts. any fwo parts are
compulsory. There is no internal choice. Fach part

carries 5 marks. 2.85= 1)
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A @9 A T g p, A QT o B
g B oTfey; pger A8 ¥ 9SS
P H 21 2x5=10

10. (i) Holendric gency

GRS EAIR

(ii) Crossing over
fafma
(i11) The Rhesus (Rh) reaction
Ty (ATE) g
(iv) Lewial Factor
Hidh F&H
(v How many meiotic division will take place to
produce 64 cells irom a single parent cell ?

T A B & 64 PN I T3 B

T o st Ry &Y 2
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